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GENERAL INSTRUCTIONS

® Answers to this paper must be written on the paper provided separately.

You will not be allowed to write during the first 5 minutes.

This time is to be spent in reading the question paper.

The time given at the head of this paper is the time allowed for writing the
answers.

Read the questions carefully and write the question numbers clearly as given in the
question paper. Follow the same system of numbering as given in the question
paper. Follow the instructions carefully and answer to the point.

The intended marks for questions or parts of questions are given in brackets| ]

£

The ratio of the number of boys to the number of girls in a school is 5:2. If the

number of girls be 124, find the number of boys in the school. [2]

2. Alabourer earns Rs. 1200 a month and spends Rs. 800. Find the ratio of his [3]
. Expenditure to income

Il.  Saving to income

Ill.  Saving to expenditure

3. If a=3, b=2 and c=~4, find the values of [3]
.  c*a?
Il.  3ab-2b2+ 4abc.
4. Solve [2]
. % +3=1
. 4x-7=13
5. A number is decreased by 15 and the new number so obtained is multiplied by 3;
the result is 81. Find the number. [2]
6. A man is 26 years older than his son. If the sum of their present ages is 50 years;
find the ages of the son and the father. [31
7. Find x in each of the following [2]
(© (i)
B
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8. Construct using ruler and compass only a & ABCwith | A = =S goo, and
AB=6cm. measure the sides BC and CA [3]




